FMS: F20500001000-21DJ1

SFERE
SLG MR ThAME A

REBRIETE T

TR VL 5 R R B IR A B A ) SLG T 1B 2
TUAMEEME, RNT i EEEEMZ 4, B, &0
AT ity AR B S AR U B A AR AR I 55 eV E R AR AL
V£ CAUTION:
& B WIE I A RHT RS RE,
& TEXTIZRE B AT AR N BN EERAE R . AT W N

ERepilit B
TR B E A E TR 75
& B BT
& CRIRTSRIER G Tk .

27 AR, 1 2 B i !

Please don’t touch the Product

when the it is in operation!

1. =N

1.1 5| FkrnE

51 B 5 by

GB/T15576-2008 & E M E LT TR AMEILE

GB10229-1988  Hifide

GB/T12747-2004 trFR B K 1kv K LA R4S /1 R4 & =
AR

HE I FE B b

IEC 60831-1:2002 il HL I 1kV [ UL R A2 i i /) R G0 A H @k
AR

1.2 =R

THIE T IAMELEE (SLG) S 2 mlid i b s THAR 4 H
PO B iyt A B BEATORS B DL IS T 557 10 D P PO R FL A i
AT

AR R A

1 AR, EHITE;

2. HLPTHAEST XS BE, ENER IR T

3. FAHBEAEMIEE, R E R

4. WRIELPrAh A BT BT, AT

5. ARG BEIRE, e

6. FRPLAT K B R R AL, A ReEmREtt,
LT

7. THS B RKNERGWHE, —AHRAE B2
100kvar~400kvar-

2. AiER
SLG [J-PL1/C]
L i v
——— PR
MR
B
3. BASH
TiH ZH
PR/ 1.7In
BiE B 480V
RN ZE -1%~+3%
AR G IE VA tan6<0.1
Y RIS RUES <105%
FEXS IR SE <85%
BRI —25C~+55C
g BUE LR 400V (=AHD 7230V CHLAHD
PR/ 1.7In

R 2 +3%
2R T7 JKP i H
WEGIRE —25°C~+105°C
4, BER
b e
‘ ‘ il
[ | e—— L = L | E— 1 — 5
[ —
e e— —
e B e I e —
] ] ] e —
e —
e —
° © =

W1

W1+40

W

A%
oo}
§V)
\ ™
+
T
#D+1
[Jousres
Mi2X18
#D96UT  Mi2X18
— I
adD
B2 SR mm ZHRF mm




LA LA HLaS A 5. #LHE
(LxWxH) (dDxH) (L1xW1) (Mxh) 5 8 & L
SLG15-P7/400 | 220*160%170 | 96*240 100%90 M16%25 IERD
SLG20-P7/400 | 230*150%170 | $116%240 100%90 M16%25 12 Ly
SLG25-P7/400 | 230*160*170 | $106*290 | 100%100 | M16*25
N b EElE
SLG30-P7/400 | 230*170*190 | $116*290 | 100%100 | M16*25 @
SLGA0-P7/400 | 250*170%200 | 2x$116*240 | 100%115 | 2xM16*25 XA
SLGS0-P7/400 | 260*185%200 | 2x$106*290 | 100*110 | 2xM16*25 o
SLG60-P7/400 | 260*185%235 | 2x$116*290 | 100%110 | 2xM16*25 AR IR R 2
SLG15-P14/400 | 240*170%200 | (96*240 100*100 M16*25 T—F
SLG20-P14/400 | 250%180%200 | ®106*240 | 100*110 | M16*25 e w5 B w5 B —
SLG25-P14/400 | 250%190%200 | $106*290 | 100*120 | M16*25 - - - Ak
SLG30-P14/400 | 250%190%225 | $116*290 | 100*120 | M16*25
SLGA0-P14/400 | 260*300%235 | 2x$106%240 | 100*130 | 2xM16*25
SLG50-P14/400 | 310%290%175 | 2x$106%290 | 100*120 | 2xM16*25
SLG60-P14/400 | 310%210%275 | 2x$116%290 | 100*140 | 2xM16*25
SLG10-P7/230 | 140*145%165 | D96*240 60*80 M16%25 ZH 000000000 4
SLG10-P14/230 | 150*170%180 | (96240 60*110 M16%25 .
] 1ok . . .
SLG15-P7/230 m;ins miuo i% Mﬁﬁ S 1. SONEALEUIN, EHE CEARET ()
SLG15-P14/230 | 160*175%205 | $116%240 | 60*120 M16%25 S BT P B ELYEE o 5% AT
5LG20-P7/230 | 160*155%205 | ¢106*290 | 60*110 M16%25 2 S TR RS A T BRI B A
SLG20-P14/230 | 170¥170%240 | $116%240 | 60*120 M16%25

PECRI DIRE K B ILIREN1E 5 Z BT 40, Bpids LR
P AN

6. ERED

77 it A R H A R P38 RS R SR A

ARG W PTE T L7, DR R

HLA LRI, L IR <5N-M

PR AN BRI U, AR CE S SR IE, A L
FE-25°C~+55°C U [H A, 2O EE AN S 90% A T
A AR

LHYFRESBHERAR
JIANGSU SFERE ELECTRIC CO., LTD.

ikl VLIOREILHN R ER 15
1.

i (Tel): (0510)86199988 86199080
F T 453

i (Tel): (0510)86199195 86199193
HORCR:

i (Tel): (0510)86199066 86199068

http: //www.sfere-elec.com

Hl%m: 214437

f£H (Fax): (0510)86199081

f£H (Fax): (0510)86199084

f£H (Fax): (0510)86199067

E-mail: sfere-scb@sfere-elec.com



